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SN BEBCBIANYL
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Sl BYAS SRES CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
BT A AE A 3,577,769 4,313,018 A 735,249
2 30,000
< 14,000
Al 3,533,769
F=dE 29 2,736,229 3,587,086 A 850,857
= 30,000
< 14,000
Al 2,692,229
Mo 2RSS H 170,426 147,390 23,036
s¥NgsEs 29 170,426 113,370 57,056
201 Let24E] 77,570 48,262 29,308
01 At 22l bl 66,300 20,882 45,418
OHMELT Fa HHE 7
10,000,000& * 2& 20,000
O=a 30 Sa=s 2 5,000,000& » 23 10,000
OF=E E2 & o2 M= 10,000
O¢E MEZ=OH ot 2E
1,000& * 8,0000H 8,000
o L Aot 5 222 &
100,000& * 203l 2,000
ONEZZ O ZA=Y 26,300
O'ssus' 2A=E
100,000 * 2% * 93l 1,800
O'SEp= g TAsg
100,000& = 2H =« 33| 600
O'g5el wa' A=<
100,000& = 3H = 93| 2,700
O'MHHANUH X MEHSt W' 2AL=&
100,000& = 4H =« 53| 2,000
O'2LBE ISHOY SA+EY
100,000& = 3H =« 83l 2,400
OJI=HMENSE Z20H" ZA 16,800
-Hasg 100,000& * 3F = 403l 12,000
=2y 100,000& * 2H  243| 4,800
03 &Ar2 I 11,270 27,380 216,110
ONeole At 8,270
Ogt=J] & S&OX 650,000  30H A 1,950
Osg3d(0ts ) 800,000& * 7& 5,600
O==9, i S 120,000& = 28 » 3= 720
o282 tal 3,000
O=tXl € &% +2¢ 1,700,000 1,700
O MR =H 100,000 * 5% 500
OsE8 ¥E% 1,000& * 80O0OH 800
203 AR Z= Yl 1,000 1,000 0
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03 A F=XH R =ZH| 1,000 1,000 0
OHUBE S BRAANLAL 2
1,000, 000& 1,000
206 M= Hl 36,650 2,500 34,150
01 =8l 36,650 2,500 34,150
OMEZ=z]d WElMs 36,650
O'ssuwd' Mz 10,0003 = 50H =« 43| 2,000
O'd3a2d MZAHE' ME 250,000 * 43 1,000
O'SgA=NE" M2 700
-2 29 24JAF Yl 100,000& * 12K 100
-'N=et g€ BEME 6,000& = 1009H 600
O'dsel wa' M=z 21,500& = 3009 6,450
O'NHNUHX MERSt W' THZ(105)
8,000& = 35% « 103l 2,800
O'2ze= II=EMELE' HE(108)
3,000& = 250 = 83 6,000
OJIsHSMEEZZOH" M
3,000& = 5,5009H 16,500
O'#0tite dEunsd' M
6,000& = 2009H 1,200
301 LEtE A= 51,456 52,608 21,152
09 HALAHIEA S 51,456 52,608 A1,152
OXNASALA &8l XI& 51,456
OSAMEs 2l 10,000& = 16 » 312 49,920
Ozle AT Sl
8,000& = 16¥ = 122/ 1,536
307 gl2tol & 750 0 750
01 222l 750 0 750
o=gd P A4S 150,000& =+ 53l 750
405 XHoHE S HI 3,000 9,000 26,000
02 = A=l 3,000 0 3,000
OIISHBHE HSTHB TN PY
12,500& * 240& 3,000
Z4EAE L HAIE SA2e 2,565,803 3,439,696 A 873,893
= 30,000
< 14,000
Al 2,521,803
SAI2E Ald 22 1,626,387 2,736,680 A 1,110,293
101 14 Hl 7,045 5,965 1,080
04 JIZHZ2Z2XREES 7,045 5,965 1,080
O3F MoHel 2 7,045
oJlzs 60,2403 = 2% « 262 » 23 6,265
OHLESEINARLES  6,295,000& * 3.06% 193
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SH HEdCBAYA
B §EUC 29
el 2EAE E HANS RA2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o=2¢3 #F& 2,700,000 = 23l 5,400
O&d3x A& 10,000,000& * 13l 10,000
©dH=2 RANE=H 66,424
OO0l olzl2 4,7543 « 4,313m’ 20,505
Oogolalz MI1MA2t 41623 * 2,460m 10,239
ONeol=al2 HM2&M A2 3,656& * 2,975m 10,877
O0golal2 M3MAIZ2 3,656& * 3,849m 14,072
Os=& 22 2 438 3,656& « 2,935 10,731
O A& &EHls Xl 81,232
o==2 =4 12,500,000& 12,500
ORUEH =& 2,000,000& 2,000
O&I| - SEANE =4 20,000,000& 20,000
ORANE =4 5,000,000& = 4CH 20,000
OATHAO A X2 &Yl =4
500,000& = 10CH 5,000
OJI=zgstdga &l =4
500,000& = 10CH 5,000
Oduegl & f54H =4
10,000, 000& 10,000
OssS da2d il =71 3,140
“HAA=I =R 1,040
=&MU 1,498 = 204 = 154 = 1238 540
=& bl 250,000& = 204 500
“ALHE S0 =M 300,000& = 23| 600
S22 FAEH =M
100,000& * 15CH 1,500
Os2¥d 23dJ ¢ AH |XE= 3,592
2RI 2 MAH HW 26,140,000& * 8% 2,092
= = = e N 15,000,000& * 10% 1,500
O =l 29,760
Oofglolsl 2 (=22, M2 - 38Al=)
930& * BAIZH = 10 » 20 » 100 11,160
O M EH 2t 930& * 5AI2t « 104 = 1002 4,650
Ossd (ASEM, SEAM)
930& * 10AI2F = 150 = 1002 13,950
206 T2 H 96,200 62,500 33,700
01 M= bl 96,200 62,500 33,700
oAgze B3 & 423 96,200
Ost&Ea IMss A2l & SFE
150,000& = 11004 « 123 19,800
Od2rg &2 A 100,000& * 1204 1,200
ogs 30,000& = 10& = 1004 3,000
OHHL RS 30,000& = 10& = 1004 3,000
OHh 2t 20,000& = 108 = 1104 2,200
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B §EUC 29
el 2EAE E HANS RA2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFINEE 40,000& = 158 = 1004 6,000
(OF =20y 60,0003 = 58 = 1504 4,500
OdTHMNUHX 2 28 MW 8,400
-2 DZEHEY P2Y
100,000& » 2& = 204 = 63l 2,400
-HEZAEH #HZT 22 600,0003 * 1004 6,000
OJI=HsME2 23 M= 8,400
-2 ZEHEH P2Y
100,000& = 2& = 201 » 63l 2,400
-HEZAEH #HIT 22 600,000& * 1004 6,000
Oz 2 HNEZa 2¢ 700
2RI BHEEH 200,000& = 204 400
-HHESS 2 50,0002 * 67K 300
O=sd 22sd =4 Adsis 7
100,000& * 1903 19,000
Osgae MHEs ME
40,000& = 508 = 103l 20,000
307 glz2tol & 423,255 399,600 23,655
05 RIZIRIE 3 423,255 399,600 23,655
OFA & SAHH AE 25,950,000 = 12& 311,400
oold AH=sd A 8,021,250& » 12& 96,255
ORQ2 AHs49 A= 1,300,000& * 12& 15,600
401 Al HIZ 201 8] 742,497 1,985,802 A 1,243,305
01 A& HI 742,497 1,980,402 A 1,237,905
O&=9 AHAN &X 10,000,000& * 1JH £ 10,000
OAMS A L THEFHAAIE HHISA 84,856
O3 Atd| 80,000,000& 80,000
O&a Al &3l 80,000,000& * 6.07% 4,856
oOss&d KXot 2H M  7,000,000& = 104 7,000
OM3TAI 2 HSIIM2 & F5LH HHISAM
10,000,000& = 1JH A 10,000
OSME 2==XHelAld E3 At
16,500,000& » 1004 16,500
OAMZ A W e M2 2 LBHEHIS A
2,000,000 = 30H A 6,000
Os2¥% ZH=Z FAMA &3 L AL X BAH(
L=50m, B=2m) 84,856
O3 Atd| 80,000,000& * 1JH A 80,000
O& Al At 80,000,000& * 6.07% 4,856
OActal YAME ZLBA 161,085
O3 Al 150,000,000& = 1JH A 150,000
O&A Al €3l 150,000, 000& * 7.39% 11,085
OS=¥ BFSSA ZESA
10,000,000 * 2J0H £ 20,000
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o HAS RN

Y. B (3H) - NRAY - B LS ﬁlgg
OS2 ZstsSAt ZESA
10,000,000& * 2J0H £ 20,000
O==2& ISAH ZEZA
10,000,000& * 1JH £ 10,000
OsS=¥ WUsHE ALY wiH
10,000,000& * 1JH A 10,000
O==2d «2tna =4 20,000,000& * 102 20,000
O==¥d st&dd Ex=3A
20,000,000& * 102 20,000
OSE290|l Zel& HABA
10,000,000 * 200 £ 20,000
Os=d 2.8 =29 e &X
100,000& * 5004 & 5,000
O=s=d SxUHE E=3A
1,200,000 * 1600 2 19,200
Os=d HELd 22 3A
3,500,000 * 300 £ 10,500
Oodd oozt XIS A
1,500,000 * 300 £ 4,500
OBHYAY GHFHA Y MUY HX
7,000,000& = 13l 7,000
OFREIAL &ZIH& SA 5,000,000& * 4002 20,000
Os2 A EZIMA& S A 6,000,000& * 3002 18,000
O=8AL & ZEA &=& X
13,000,000& * 13l 13,000
OME 2 ANIEE=3At 10,000,000& * 1JH A 10,000
OSMZ ZEAE ZEIA
20,000,000& * 1JH A 20,000
O28 A2 & FAHAE FHHl
22,000,000& * 1JH A 22,000
O3X A2 & S S22 MHHEX
8,000,000& * 1JH A 8,000
O=2%d JIzEets &M L FY|
20,000,000& * 10H 2 20,000
Os2d == =82 LA
20,000,000& * 1JH A 20,000
OLEHSOIAL LAY TS AM
20,000,000& * 1JH A 20,000
OofA= TMIA 5,000,000& * 1JH 2 5,000
Os2¥ FANAME &X 20,000
Ounersd 6,000,000 204 12,000
OHE" 8,000,000 * 10H 4 8,000
405 TtabF S 37,400
01 AL EFFHSHI 37,400
O==23 HEL RAYAI 2L
550,000& =« 2CH 1,100
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400,000& » 1OH4
2,900,000 = 1CH
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35,000 = 3204 = 128
300,000& * 20K

1,000& = 1,000kg

500,000&

Salal= 600,000& * 43

500,000& = 43|
50,000& » 60A
350,000& =+ 43|

150,000& * 12E

100,000& * 3%/
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700,000& = 43|

28 3] (KAZA) E 3|

3,000,000& = 12

34,640
13,440
6,000
1,000
500
2,400
2,000
3,000
1,400
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2,800
3,000

3,000

21,250

2,100

13,390
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392,966

335,675

57,291

1,800& = 5380tc| » 365

25,000& = 100m

= 20,000& = 504

1,000,000 = 204

e iy ==

100,000& » 258 = 12&

40,0008 = 1005

392,966
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13,048
6,089
24,359

= Hn

01 ArR2t2lHl 32,996 29,980 3,016

1,000,000& = 12& 12,000
3,600
1,680
6,720
OB AIZ CCTV tHH 2 600,000& * 123 7,200
2,160
1,008
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EXN: BFHE 22 AIE A
M HEUC 29
ool BBAIL U HAS SR (29 & 9)
- _ _ RE]
M- o9 (B H) - MEAY - B2 %Eﬁ HR=2
CEED wel o BadE e
1,000,000 * 12& 12,000
= 3,600
= 1,680
Al 6,720
A2 29 386, 160 386, 160
207 A FoH e 23,700 23,700
02 & A H| 23,700 23,700
OUNA HELHANAY PH(ZT208, A
s) 23,700,000 23,700
307 212t0| & 360,000 360,000
05 QIZtR &2 360,000 360,000
oozey fla2dyl
1,600,000 = 25 * 9& 360,000
405 &R S 2,460 2,460
01 XAt 2 FF S| 2,460 2,460
OMEA KoZAD 550,000 = 2CH 1,100
OOEA X H A D] 400,000 = 1CH 400
oOxMHES MAMSDI 480,000& = 2JH 960
HHSAHH (FFUCB2IAYL) 841,540 115,608
oA 2HH| 350,040 28,189
ol H| 350,040 28,189
101 e1214| 350,040 28,189
01 E% 158,271 11,516
oOx=l=2=R ol Bt Al) 158,271
OAlI2t2] =g 91,504
-6 11,0749 = 78 = 30Al2F = 12&€ 27,907
-2 10,003& = 9H = 30Al2t ~ 12& 32,410
-8 8,663 * 102 = 30Al2t » 12& 31,187
Oz 66,767
-6 89,017& x 7¥ » 32¢& 19,940
-2 80,409& x 6YH » 64 30,878
-8=2 72,1873 x 3% x 64 13,860
-9 65,251 ~ 1&H » 32 2,089
02 JIEtE 2 % 42 127 7,716
OXMIAAE(AMEHY]) = 10,075
OoOxhz2244 10,075
—-Al 2 224
10,1318 * 20AI2F = 28 = 12&€ 4,863
-5 =G 81,437& » 1H x 64Y 5,212
o=1n= SHADIH) 27,144
OAlI 2+ =g 15,594




SH HEdCBAYA
M HER2YGU (BT 2A2IAGE L)
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
-8=2 8,663% * 5 x 30AI2F » 123 15,594
OsgZ2fs+% 11,550
-8=2 72,1873 * 2.59 x 64 11,550
OFU2 2L (AIZEEHLIH) 4,908
OANMZe 2R 2,819
-0t= 7,830 * 1 « 30AI2t 128 2,819
OsgIz2f=+% 2,089
-0t=2 65,2513 = 1% x 32¢ 2,089
03 RIHAZ 2N E =+ 149,642 140,685 8,957
SR EX(SEMSALH) 135,961
oJlz200t3) 84,646
245 = 2,793, 740& » 128  1H 33,525
-155 8 2,315,840& » 128 » 1H 27,791
85 = 1,944,140 » 128 » 1% 23,330
Oolmazsy
12,6082 = 15A12F = 3H » 12& 6,809
oOggaz4+y
12,6083 * BAIZ2F = 1.6% » 64 9,683
Ot L=y 117,557& * 3H » 12& 4,233
(OFSF=Eat=4 70,0003 = 3H » 123 2,520
OJlg=g 150,000& * 3H » 42| 1,800
OF &= tHl 1,528,303& » 3H * 23] 9,170
O= &l 150,000& = 3H = 12& 5,400
[@ImE=}:]! 150,000& = 3H » 123 5,400
OIJHAX &bl 175,000& = 3H » 12& 6,300
O32RA 4UHEE=E JlarE3 13,681
OH2ZEd= 135,961,000& * 3.06% 4,161
OFIYEER 4,161,000& * 6.55% 273
o383 135,961,000& * 4.5% 6,119
ons=sg 135,961,000& * 1.5% 2,040
OMTEH 135,961,0002 * 0.8% 1,088
2 Hl 491,500 404,081 87,419
224l 491,500 404,081 87,419
201 L2 | 449,944 362,941 87,003
01 At 22l 78,710 64,908 13,802
oJle2ged 52U (JI&EZl)
500,000& = 289H 14,000
o=2Hl(J1=2Hl)
8,000& * 309 = 8 » 12& 23,040
og=A AR 300,000& * 23] * 204 4 1,200
ou =l 5,550
O0&olal & 90,000&  179H 1,530




SH HEdCBAYA
o HI2YAH (FASTIAYL)
& 123l (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OERAZZE 120,000& » 2% * 23| 480
Oss¥ 3,540
-otAH == 90,000& =« 189H 1,620
-sH HYs 100,000& * 12&H 1,200
—-otM 3} 60,000& = 129H 720
O=2wMa Xz 1,500,000 1,500
oY 22,620
O=3 60,000& * 1€ = 365¢ 21,900
ogH 60,0003 = 3H » 4« 720
oI Lz 900,000& = 12& 10,800
02 8323l 371,234 298,033 73,201
oORERS 639
OgttsH 300& * 2003 60
Oosilsd 1,930& * 3003 579
OHZAHZSEH MBEBEEEE
100,000& * 6% 600
O Hl Al 9,900
QUERLLIELES(HE) 550& = 18,000’ 9,900
ozExteg s &eltl 13,175
OSF4Hl, 8tlliias & 223l 10,000
-2 2t 2,000,000& =« 4CH 8,000
-0l & Xt 200,000 * 10CH 2,000
OB&g=z 2,350
-2 & Xt 450,000& * 3CH 1,350
-0l & Xt 100,000& * 10CH 1,000
OINMERE S (XH )
60,000& = 404 » 23| 480
OXsSxtM(at2A8) 30,0008 * 30H * 23] 180
Oxte EJlEA= 55,0002 * 34 165
03323 346,920
OoNIIe3 196,320
-JERS 8,000& = 550kw » 12& 52,800
-AERS 130& *» 92,000kw * 12& 143,520
Odot=E 23 12,300,000& * 128 147,600
OH&3G, 2HY AIBZ 220,000& = 12& 2,640
OAoIETV =8l g 30,000& = 12& 360
202 O4dl 32,256 29,160 3,096
01 =S LHA YI 32,256 29,160 3,096
O=UWoitl(21F=ZHl)
20,0008 » 28H » 8 » 128 * 60% 32,256
203 PR =&l 6,300 5,280 1,020
02 ZR &t =&Y 1,320 1,080 240
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40,000& = 33

400,000& » 12
5,000 = 3% » 12&

1,320
4,980
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4,800
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3,000

1,000,000 = 1CH
1,000,000& = 204
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